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5) Replace the force and couple system acting on the
frame by an equivalent resultant force and specify where

the resultant’s line of acuon intersects member AB,
measured from .
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8) The building slab is subjected to four parallel
column loadings. Determine the equivalent resultant force

and specify its location (x, y) on the slab, Take F| = 20 kN,
Fs = 50kN.
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10) Determine the force in each member of the truss,
and state if the members are in tension or compression.
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11) Determine the force in members DC,HC, and fH{ of
the wuss, and state if the members are in tension or

compression.
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